sam2*CurMon:Entry$ sam2*CurMon {ErrorFlag==0} asym_sam2/ppm:pattern_number {ErrorFlag==0) asym_sam?2

c 25 = 50000 2300F Entries 44867
5 =T - evilree : : |
% i 14000 - g - M 6.694
B - - u ean :
O T - Entries 179678 40000¢ 190 —
E 2 12000 - - Std Dev 1714
2 i Mean  0.6755 30000 x 180 Ll ar
u B B e b B Underflow 1.43%e+04
B 100001 2 ::x::x}{:x }{:x: MM KK 8 i:x § ¢ B |
1 5 I Std Dev 0.03312 2000015 5 7¥ S ¥ioxx px S xx Scock 1701 |1 l h 1111 overfiow 1.4326+04
i 8000 mnnnz : - |
| | : | T O B T
1 6000 — ) H H H I L i _
- B 150 T B - _[
i 4000 — 10000 f - L 1
0.5 - L | 14“{_
A 2000~ 20000 N R }"ﬁ}"gﬁ -
_ B N XX X y 5 130
_III|III|III|III|III|II II|III|III|III|III|III| :":1[]3 D_I | | 1 | L 11 1 | L 111 | I | I| | _BDDDD_I Il 1 1 | L 1 1 1 | L 1 1 1 | L 11 1 | L 1 1 1 | Il 1 1 :I | I .| | L 11 1 | I 1 1 1 | I I | l 1 1 1 | I 1 1 1
0 20 40 60 80 100 120 140 160 180 200 220 240 06 065 07 075 08 085 0.9 0 10000 20000 30000 40000 50000 ~3000 -2000 —1000 0 1000 2000 3000
Entry$ sam2*CurMon pattern_number ppm

run3540 000 sam2.png



sam4*CurMon:Entry$

w

sam4*CurMon

B

—k
1 I | | |

TR ARG n 7
(1 OZN LT

At

H
- I
5o

II:I.. HE *
S PP

0 20 40 60 80 100

x10°

20 140 160 180 200 220 240
Entry$

run3540 000 sam4.png

12000

10000

8000

6000

4000

2000

sam4*CurMon {ErrorFlag==0}

evtlree
Entries 179678
Mean 2.027

Std Dev  0.07612

o0

1.9

2

2.1

2.2

2.3

2.4 2.5
sam4*CurMon

asym_sam4/ppm:pattern_number {ErrorFlag==0}

40000
B }{
30000
N x
a x x
20000 % > N L
ﬁniﬁ %KHKK§K%HE§KK ke HH§§HH p §x§§§
10000
0
10000
T R X xx 583 §ﬁ§"§§xx
- % 93¢ xRk 93¢
20000 x X
B | 1 1 1 | L 1 1 1 | L 1 1 1 | | 1 1 1 | I 1 1 1 | L1 1
0 10000 20000 30000 40000 50000

pattern_number

240

230

220

210

200

asym_sam4

Entries 44867
Mean 10.96
Std Dev 1686

| | Underflow 1.251e+04

Overflow 1.243e+04

1

190
180
1?[&—
160
:IIII|IIII|IIII|IIII|IIII|IIII
-3000 2000 —1000 0 1000 2000 3000
ppm




sam6*CurMon:Entry$

n
wn

sam6*CurMon

(AW

1.5

0.5

I

0 20 40 60 80 100
run3540 000 sam6.png

20 140 160 180 200 220 240
Entry$

12000

10000

8000

6000

4000

2000

sam6*CurMon {ErrorFlag==0}

evilree

Entries 179678

Mean 0.8434

Std Dev  0.01842

|
0.86 0.88 0.9

-
h‘hl_
m_
-
h"hl_

4 0.76 0.78 0.8

sam6*CurMon

asym_sam6/ppm:pattern_number {ErrorFlag==0}

B et
- P
1DUDDE“ ““§§ §§M§ §2“ §xxx§xx s
5000 -
oA T
-5000
v R v v xR
10000 — XK KX
B et
15000
20000 — 9
:IIII|IIII|IIII|IIII|IIII|III
0 10000 20000 30000 40000 50000

pattern_number

asym_same6

- Entries 44867
380 - Mean —8.352
S00F StdDev 1614
340

_ Underflow 6862
320

N Overflow 6908
300 -

280
260
240
zzni—
200
—IIII|IIII|IIII|IIII|IIII|IIII
-3000 -2000 -1000 2000 3000
ppm




asym_sam8/ppm:pattern_number {ErrorFlag==0}

sam8*CurMon:Entry$ sam8*CurMon {ErrorFlag==0}

= i 12(][1(]_— thTree - o y
E‘r 2.5~ i I :x-—g Mk Xk :x:% g}ﬁ g 5%
=T - Entries 179678 T S0 | TROOTIGOer RS T pTRKN | xExEHT
-:E i i 5000
8 T 10000~ '
ol i Mean 1.29
I 8000 0 H H
- i Std Dev  0.01835
1.5 I
Ennn'_ ~5000 Lol =Bxd., xxdx duxx x x x4
i : Licmm Gxkxx B % g X
1= i . x %R % %
s % X
- 4000 - X
- i 10000 -
0.51~ 2000/ -
i i - x
I:'I:LI|||||||||||II|III|II|||||||||||||||III|III|'.:"":.‘II.I:‘I3 D_Illll_ ||||||||||||||||II| |||| -.IEDDD_IIIIlIIIIlIIII||||||||||||||
0 20 40 60 80 100 120 140 160 180 200 220 240 1.18 1.2 1.22 1.24 126 1.28 1.3 1.32 1.34 0 10000 20000 30000 40000 50000

Entry$ pattern_number

sam8*CurMon

run3540 000 sam8.png

asym_sam8

Entries 44867

600~ Mean 2872

i Std Dev 1465
500

u Underflow 2439

i Overflow 2482
400} L
300
200

| | L 11 1 | | I | | | I | | I | L 11 1

—3000 2000 —1000 0 1000 2000 3000
ppm




asym_sam1/ppm:pattern_number {ErrorFlag==0}

sam1*CurMon:Entry$ sam1*CurMon {ErrorFlag==0}

c 2000
5 evtTree : B
5 i n X XX X
O i i _ 1500 _ _xx_ X x g:x: x %o
s 0.5 u Entries 179678 o KX XX X s L WK ¢
= 10000 DR ETN K gxéﬁ_ XUXEENT XXXy
o B 1000 | T T T
- B Mean 0.4469 H
0.4 - I
B 8000 — 500~
| B Std Dev  0.002965 %H H
0.3—
B 6000 B
I i -500 f-
0.2 4000 —1000 =
u - - L »4Lidlll 11l
- - %E%x §x§x§x}{x}< éix xi}{%xiﬁx ﬁgi%
n | _15[][]3_ v }{}{}«: o ) HK 2‘;}{}{ i
D.‘I_— 2000+ E:x: s W s ¥ X
i I 2000 y
l:‘l_||||II|III|III|III|II||||||||II|III|III|III|'.:"":‘II:I3 _IIII |||||||II|IIII ||| :IIII|IIII|IIII|||II|IIII|III
0 20 40 60 80 100 120 140 160 180 200 220 240 [PAB 0435 044 0445 045 0455 046 0465 0 10000 20000 30000 40000 50000
Entry$ sam1*CurMon pattern_number

run3540 000 sam1.png

asym_samf

m Entries 44867
2500 —

i Mean -3.25

B Std Dev 431.9
2000—

i Underflow 0
1500 Overflow 0
1000

500
] | I | | 1 | | I I | | I I | | L1 | | I |
—annnn 2000 -1000 0 1000 2000 3000
ppm




asym_sam3/ppm:pattern_number {ErrorFlag==0}

sam3*CurMon:Entry$ sam3*CurMon {ErrorFlag==0}

— ‘I[]_ 12000F 40000
S F i evtlree i .
3 9 . I i
3 N 1 - Entries 179678 B
5 F 10000 30000
Eaw % — =
ol 5 ™ i |
s =- i Mean 6.919 200001 * % y x
8000 — i 8 " XX X H MK
- StdDev 02362 xSocr 00 X Roodex T ox xS o
: B s
. i ;" - 10000
5F 6000 —
aF qE 4000
of i : 10000
- 2000 LLE soelLLLLL L) o ox 1iSigllllld
n f*i.. s y i}{%{ §§£}{ g }{ﬁ}:ggx--
= u i 20000 % : ~
:III|III|III|III|III|IIII|III|III|III|III|III|:":1[]3 D_Ill |III|III|III|III|III| | | ] |III _IIII|IIII|IIII|IIII|IIII|III
0 20 40 60 80 100 120 140 160 180 200 220 240 64 66 68 7 72 74 76 78 8 8.2 84 0 10000 20000 30000 40000 50000
Entry$ sam3*CurMon pattern_number

run3540 000 sam3.png

asym_samg3

n Entries 44867
250 :_ Mean -9.413
240 Std Dev 1691
230 ] J[ 1] l Underflow 1.202e+04
220 :— w | Overflow 1.211e+04
210 :— ﬂ | ﬂ
200 J I8 h

1
190 l |
180 _— ﬂ i
170
i I | I I | | I I | I I | L1 1 1 | I I
-3000 -2000 1000 0 1000 2000 3000
ppm




asym_sam5/ppm:pattern_number {ErrorFlag==0}

sam5*CurMon:Entry$ sam5*CurMon {ErrorFlag==0}

c 0.7 5000
St i evtlree . x
= i - —
2 0.6 10000 Entries 179678 4000¢
E - -
Eg ] = BUUD_— § ” e w §
0.51 I Mean 05340 " e E S X T 3 g
- annn_— 2000 E?E’i““"%’ig?‘" ?"2}‘?”"?% fxx XX o
B : Std Dev  0.004406 I
D.4_— B |
i 6000 — mﬂﬂg-
! 4000 i
0.2— i -1000 -
§ 2000 B 101010] =3 B:3vi Rvtvivi-Soanivd -4 Rutvs-svll IiRntvivll Bl N boll kot 5-3 M
0.1— l g}{éﬁx}{ﬁééﬁxigéx%x§§x Saavve §H§§KH§
— K s MM ot s
| - - oK o . # )
§ : -3000 y % %
_|||||||||||||||||||||||||||||||||||||||||||||H'IUS Dlllll IIII|IIII|IIII|IIII|II III|I _IIII|IIII|IIII|IIII|IIII|III
0 20 40 60 80 100 120 140 160 180 200 220 240 0.510.515 0.52 0.525 0.53 0.535 0.54 0.545 0.55 0.555 0 10000 20000 30000 40000 50000

Entry$ sam5*CurMon pattern_number

run3540 000 sam5.png

asym_sam>
i Entries 44867
1400 B Mean —1.649
i Std Dev  735.3
1200~
- Underflow 1
1000
- Overflow 2
800 —
600 —
400—
200 —
B || | I | L1 1 1 | | I O | | L1 1 1 ]
—d‘ﬂﬂﬂﬂ 2000 -1000 0 1000 2000 3000
ppm




sam7*CurMon:Entry$

P

sam7*CurMon
£l
n

(F)

1.5

0.5

L=
re.
u

. m
-
i

0 20 40 60 80 100
run3540 000 sam7.png

x10°

20 140 160 180 200 220 240
Entry$

sam7*CurMon {ErrorFlag==0}

14000F
_ evilree
12000 Entries 179678
10000 Mean 5 428
: Std Dev  0.0456
8000
6000
4000
2000
_l L1 | L1 | L1 | L1 L 11 |

||||||III L1
O3 2715 22 225 23 235 24 245 2.5 255

sam7 *CurMon

10000

5000

-5000

10000

15000

20000

asym_sam7/ppm:pattern_number {ErrorFlag==0}

; %l 1H%%%%%%%%%I¥HH %%%? %%% %%%%
% %xxéxiﬁiﬁﬁixé% Téﬁﬁﬁ I
IIfI_I | I‘IIIIfllilfllilllﬂlI IEIIIfllilllilllilI IBIDI!]DIDI I-ri’lllifllilfllilllﬂlI I5I[fl[|][]|[]I |

pattern_number

asym_sam?/

500 . Entries 44867
i Mean -10.59
450 Std Dev 1573
i I'J Underflow 5050
400 —
- Overflow 5193
350 J
300
250 ﬁHJL
200
L1 1 1 | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
—3000 2000 —1000 0 1000 2000 3000
ppm




yield_sam2:pattern_number {ErrorFlag==0} yi eld samz2 { EI'FDI'F|3.Q ==0} asym_sam2/ppm:pattern_number {ErrorFlag==0} asym_sam2/ppm {ErrorFlag==0}

0.018 - h 80000 - :
- - temp - s500F PairTree
I 8000} i x i
- B Entries 89764 B B Entries 89764
0.017— 7000 — 50000 B 3000
i n Mean 0.0136 - X X X - Mean —24.67
= 6000 — 40000 T A .
0.016]- : o N L T S 2500¢
i 5000 Std Dev  0.0006378 | x - Std Dev 1.269e+04
: - 20000 - 2000
0.015— [ I L LL | 1Ll Ll i
o 4000~ ! -
i - D%HHHHHEE QEHHHHHHHHE HHH EEEHEEE HH 1500
0.014— 3000 i | -
- . _ i 1000
2000 20000 f ! i
- i % | || -
0.013 B || L < LEL L €111 i
1000 — 40000 L LLITS T TS 1 00~
B i e B
nD-IEIIII|IIII|IIII|IIII|IIII|III _III||||||IIIIIIII |II|I| IIII|IIII|IIII|IIII|IIII|III DI_II II|III|III|II III|III|
' 10000 20000 30000 40000 50000 D%‘IE 0.013 0.014 0.015 0.016 0.017 0.018 0 10000 20000 30000 40000 50000 40000 —20000 0 20000 40000 60000 80000
pattern_number yield_sam?2 pattern_number asym_samz2/ppm

run3540 000 pairTree sam2.png



0.05

0.048

0.046

0.044

0.042

0.04

0.038

yield_samd:pattern_number {ErrorFlag==0}

T
£l

[ [ | B e

10000 20000 30000 40000 50000
pattern_number

run3540 000 pairTree sam4.png

7000

6000

5000

4000

3000

2000

1000

yield_sam4 {ErrorFlag==0}

htemp

Entries 89764

Mean 0.04083

Std Dev  0.001466

E:l_

l l l l
0.044 0.046 0.048 0.05
yield_sam4

asym_samd/ppm:pattern_number {ErrorFlag==0}

60000|— .
40000 o
- et et
® e T How . et
C T X ST XMTTT o7 | T Wl XX
| TTT 72X FTTT X 7T A TEETT
20000 g %
20000 b y
i p X §
oL LAl s dx |+ g Llyl”ld
g et — L oML W HHH MM
B b . ® X
40000
_I L1 1 | L1 1 | | I | L1 1 1 | L1 1 | L1 1
0 10000 20000 30000 40000 50000

pattern_number

4500

4000

3500

3000

2500

2000

1500

1000

500

asym_samd/ppm {ErrorFlag==0}

PairTree

Entries

Mean

Std Dev

89764

-9.334

9515

1
-40

000 -20000

0

20000 40000 60000

asym_samd/ppm




yield_samé6:pattern_number {ErrorFlag==0}

0.018

0.0175

0.017

0.0165

0.016

0.0155

0.015

IIII|IIII|IIII|IIII|IIII'a- =
.:-.-.',-L;_Eq.._:
"o el oy Ly - "
e ———
i .
. LR i
. = B . - [l
ko o H W
el AT -
1= i B L
y
H R - -
=" .".I‘... ...
T g

D.n-|45IIII|IIII|IIII|IIII|IIII|III

10000 20000 30000 40000 50000
pattern_number

run3540 000 pairTree sam6.png

8000
7000
6000
5000
4000
3000
2000

1000

0.0

yield_sam6 {ErrorFlag==0}

asym_samb/ppm:pattern_number {ErrorFlag==0}

htemp

Entries 89764

Mean 0.01699

Std Dev  0.000358

20000

I 1
|
]
| 5%

(K]
(1]
(K
LI
LLd
[l i1
[l
[l
[l
[l i]
i
[l i]
[

m————

145 0.015 0.0155 0.016

0.017 0.0175 0.018

yield_sam6

e e PP S
W oW T | W

T P
A
I

20000

30000

40000

20000 30000 50000

pattern_number

3000

2500

2000

1500

1000

500

asym_samé6/ppm {ErrorFlag==0}

PairTree

Entries 89764

Mean 2.447

Std Dev 6153

-30000 20000 -10000

10000 20000
asym_sam6/ppm




0.027

0.0265

0.026

0.0255

0.025

0.0245

0.024

0.0235

yield_sam8:pattern_number {ErrorFlag==0}

...,
* =l - Y
—— i
- ro-
. - Ta -
- PR
B ... o -
- .- 1 To
= ==l T~ g
s R .
e HE ]
i .. %
e i .
- =" - ..
Y -
" - -.. -
. i
- R

IIII|IIII|IIII|IIII|II_I__4'-5

10000 20000 30000 40000 50000
pattern_number

run3540 000 pairTree sam8.png

7000
6000
5000
4000
3000
2000

1000

0.0

yield_sam8 {ErrorFlag==0}

htemp

Entries 89764

Mean 0.02598

Std Dev  0.0003564

235 0. [124 IJ 0245 0.025 0

0255 0.026 0.0265 0.027

yield_sam8

asym_sam8/ppm:pattern_number {ErrorFlag==0}

15000 §
RV T e o xxx S
10000f] 27577 x X F T R
: % : x
5000 |
e S
5000 |
b X
10000 | 55055055 amotall U vl Bl Rl Il ot
[ oLl %
B o
15000
20000
25000 — X
I | L 1 1 1 | L 1 1 1 | | 1 1 1 | I 1 1 1 | L1 1
0 10000 20000 30000 40000 50000

pattern_number

4500

4000

3500

3000

2500

2000

1500

1000

500

asym_sam8/ppm {ErrorFlag==0}

PairTree

Entries 89764

Mean 4.549

Std Dev 3485

m—
-
%_
DF
=
BF

5008100065000 0 50001000015000
asym_sama8/ppm




yield_sam1:pattern_number {ErrorFlag==0} yi eld sami { EI'FDI'F|3.Q ==0} asym_sam1/ppm:pattern_number {ErrorFlag==0} asym_sam1/ppm {ErrorFlag==0}

= 5000 .
: : htemp S __ 2000 PairTree
- : 8000 4000 _T|T-|T« T = T-T -
D-””93: I - Entries 89764 H T g < oTT 11T 1 18001 Entries 89764
- ' 7000 3000 o] _ 1600
0.0092- N Mean 0.009 i 11 |5 o % - Mean -3.281
- 6000 2000 LIz 1IRRRE: 1400
0.0091 - _ E Std Dev 4.963e-05 1000 E— | | | |+ 14| Ml | L [ 19200 - Std Dev 1576
- . 5000 i -
e - 0 BEEHEERAEA HEHE:Hs:H EEEEEEHEEEEEEE: 1000
0.009 iikii S 4000F | - 5
o - -1000 | | _ | TL ST RS T 800 —
3000~ - EIkdEb T 7L -
0.0089— - —2000 ! § LIs |7 L1 600
i 2000 ' L]l * - -
i - 3000 L § . 1 1 400
0.0088 - 1 % sl L -
i 10001 —4000f "L CL|* o5 5 T s ] ] 2001~
D DDB?_ L 1 1 1 | | 1 1 1 | | 1 1 1 | L 1 1 1 | | 1 1 1 | L1 1 : I | 1 1 | 1 1 1 i ! ] I—""l_'-IT"l-LI | _EDDD: | 1 1 1 | L 1 1 1 | L 1 1 1 | | 1 1 1 | I 1 1 1 | L1 1 D: ] ] ] ] | ] ] ] | ] ] I | ] ] ] ] ]
' 10000 20000 30000 40000 50000 D.BDBT 0.0088 0.0089 0.009 0.0091 0.0092 0.0093 0 10000 20000 30000 40000 50000 -4000 -2000 0 2000 4000
pattern_number yield_sam1 pattern_number asym_sam1/ppm

run3540 000 pairTree sam1.png



yield_sam3:pattern_number {ErrorFlag==0} yiE|d_SE.ITI3 {EI‘FDI‘F|ag==0}

asym_sam3/ppm:pattern_number {ErrorFlag==0}

: : htemp 60000
| . n #
0.165 5 i
- 6000 —
- i Entries 89764 -
0.16 B 40000
B B - b
I | 50001 Mean 0.1393 XK T T % - s
0.155— _ i LT T T T T [ TT-TETTTT
B 3 i o s
[ - 40001 Std Dev  0.004525 20000 & 5
0.15 5 i | |
0.145¢l 8kl T 20001 -
i o i 20000 x = »
0.135fENFRE ! - Sl
\< R 1000+ | }{}{i | O }{}{ . }}E | }{}{
=oLob : i L s }{ :-K by
0.13 - 40000 — s
IIII|IIII|IIII|IIII|IIII|III Dll II|IIII|IIII|IIIIIIII |II IIII|IIII|IIII|IIII|IIII|III
10000 20000 30000 40000 50000 013 0135 0.14 0.145 015 0.155 016 0.165 0 10000 20000 30000 40000 50000

pattern_number

run3540 000 pairTree sam3.png

yield_sam3 pattern_number

asym_sam3/ppm {ErrorFlag==0}

4000 PairTree
3500 f— Entries 89764
3000 f— Mean ~7.989
2500 f— Std Dev 9347
2000 —
1500 —
1000 —
so0L
0 % | | SR B
-40000 -20000 0 20000 40000 60000

asym_sama3/ppm



yield_sam5:pattern_number {ErrorFlag==0} yi eld sam5 { EI'FDI'F|3.Q ==0} asym_sam5/ppm:pattern_number {ErrorFlag==0} asym_sam5/ppm {ErrorFlag==0}

0.0112 h - -
: : temp 10000 2500l PairTree
- : - — :-_;{ -
0.0111 . i -
- 6000 Entries 89764 8000 i Entries 89764
0.011 i S S - 2000 —
- : 5000 Mean  0.01077 5000~ XX LT TT T T TTT |7 I Mean  -1.404
- ; B — | = - b - |
n.mng:— i 4nn% % T[T i
=] L. 4000 [ Std Dev 7.91e-05 1| [ Std Dev 2266
0.0108 Filliik sl e ;. I - i 1500~
: ﬂ ok A i 2000 [ 411 Tinnl L R
D.D‘IDTH-‘;_; siie I BDDD:— né-szasasH:;H H;H;: s|=|=g=lal=lal EEHE sl=lsle i
- L i i 1000
0.0106 i _o000 70N D ULTEY il -
: 2000~ - LT ! w I
0.0105 - i ik I
: : ~4000¢ : } |5 s00|-
: 1000 1| L R e | g -
0.0104 i -6000 - -+ |t ot -
Dn-lnazlllllllllllllI|IIII|IIII|III TIII I|IIII| |||| |I||| _BDDD_Illlllllllllll|IIII|IIII|III _|III II|III|III|III|III|II III|III|I
' 10000 20000 30000 40000 50000 09109.0109.0109.0108.0100.0108.01090.0110.0110.0112 0 10000 20000 30000 40000 50000 8000-600040002000 0 2000 4000 6000 8000 10000
pattern_number yield_sam5 pattern_number asym_sam>s/ppm

run3540 000 pairTree sam>5.png



yield_sam7:pattern_number {ErrorFlag==0} yi eld sam7 { EI'FDI'F|3.Q ==0} asym_sam7/ppm:pattern_number {ErrorFlag==0} asym_sam7/ppm {ErrorFlag==0}

0.051 - h . :
5 temp 20000 - PairTree
8000 u ® ® -
N 4000F
0.05 - _ CH X T T X M T T X N _
- Entries 89764 TR ST TR TEE L S S T TR - Entries 89764
7000— 5 N
- 10000 & . 3500~
0.049 N N
i - Mean 0.04889 - Mean 4.035
N 6000 — B 3000 —
0.0481 N 0 | -
. 5000 Std Dev  0.0008914 i 2500 Std Dev 4654
0.047 - -
- 40001 10000 < 20001
0.046 N C LIS |5 | v Evl ) oSN AV 1 I R N v -
N 3000 Bl ek AR AR A 1500
0.045 B 20000 - " -
- 2000 i 1000
0.044 _ i 2 -
- g 1000 — 30000 — y 500
0.043F - - -
_IIII|IIII|IIII|IIII|IIII|III D_Illlllll |IIIIIII|||III|IIII III| IIII|IIII|IIII|IIII|IIII|III D_II|IIII|IJI|IIII|IIII|III|I
10000 20000 30000 40000 50000 0.043 0.044 0.045 0.046 0.047 0.048 0.049 0.05 0.051 0 10000 20000 30000 40000 50000 -30000 -20000 -10000 0 10000 20000
pattern_number yield_sam/ pattern_number asym_sam?y/ppm

run3540 000 pairTree sam7.png



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3540 000

- ]
B [ |
| N —50(
0.04
0.03 n aoc
0.021-
- 30
0.01
O 20(
-0.01F
N 10
-0.02
—'D.ﬂ _I 111 I L1 11 I 11 11 | 111 1 | L1 1 1 | L1 11 | L1 11 | L1 1 1 ,D
%303 —0.02 001 0 001 002 003 004 005
asym_samz2
L_ — —24(
0.04-
| n ol
0.03F 20
- —18(
0.02 —18¢
N —14(
0.01—
o
-0.01
-0.021
_I 1 11 I 1 1 11 I L1 1 1 | I | | 111 1 | 1L 1 11 | 1 1 11 | L1 1 1 ,D

-0.03 -0.02 -0.01 O 0.01 0.02 0.03 0.04 0.05

asym_samZ2

as

B —
B —20(
| -
0.03 :_ —16(
- —14(
0.02F
: —12(
0.01F
o
—0.01F
-0.02|
—ﬂ.ﬂa_ I | | | | | | 1 | | I | | | | | | | | | I | | |
“0.015  -0.01  —0.005 0 0.005
asym_sam8g
s
| [
0.04
| - N —25¢
0.03F
B —20(
0.021-
0.01- 13(
oF
-0.01
-0.021
i I | | | 1 | | I 1 1 | | | | 1 1 | I | 1 1
-0.015  -0.01  -0.005 0 0.005
asym_sama8

as

0.01

0.005

-0.005

—0.01

-0.015

-0.02

-0.03 -0.02 -0.01 O 0.01

as

0.005

-0.005
—-0.01

-0.015

asym

“sam2468 “mu

—14(

—12(

—10C

0

0.02 0.03 0.04 005
asym_samz2

—20(

—18(

—16(

—14(

—12(

10C

80(

B60(

40(

20(

0

. [ —24( . [
N [ | nof - N
" 0.04F | " 0.04F —14c
' - —20( ' -
0.03F i8¢ 0.03F —12(
N —16( N
0.02F 0.02F —10¢
: —14( :
0.01F 0.01F
o o
—0.01F —0.01F
—0.02F —0.02F
n 20( n
_,Dlna_ll|IIII|IIII|IIII|IIII|IIII|IIIIII ,D _,Dlna_llllllll|IIII|IIII|IIIIIIIII|IIII|III
002 -0.01 0 001 002 003 0.04 ~0.02 -0.015 —-0.01 —0.005 0 0.005 0.01
asym_samd asym_samé
L_ :! — — B0 L_ —
0.04 0.04 —(186¢
I B L | B [ |
- B _ - B —14(
0.03f- 500 0.03f-
- - —12¢
0.021- —40( 0.021-
- - —{10(
0.01- 30 0.01-
o o
- 20( -
-0.01 -0.01
- 10¢ -
-0.021 -0.021
_II|IIII|IIII|IIII|IIII|IIII|IIII|I ,D _III|IIII|IIII|IIII|IIII|IIII|IIII|III
002 -0.01 0 001 002 003 0.04 ~0.02 -0.015 —-0.01 —0.005 0 0.005 0.01
asym_samd asym_samé
asgLanam4 s
= ] = [ ]
N —16( N
0.01F 0.01F —50(
- —14( -
0.005 0.005
- —12( - —40(
o o
- —10¢ -
- - 30(
—{].D{}'&:— 80¢ -u.nﬂ5:—
~0.01- E 60( ~0.01F 20(
-0.0151 40¢ -0.0151
B B 10
o 20¢ o
-0.02} = -0.02 g
_II|IIII|IIII|IIII|IIII|IIII|IIII|I _D _III|IIII|IIII|IIII|IIII|IIII|IIII|III _D
002 001 0 001 002 003 0.04 ~0.02 -0.015 —-0.01 —0.0056 0 0.005 0.01
asym_samd asym_samb6
asym_sam4 as
| —{25¢ |
0.005\— 0.005\— |14
i oo i —12(
o o —10(
i 15¢ i
i i 80(
-0.005 -0.005
i 10( ! 680(
~0.01— ~0.01— 40(
- B0( -
- - 20(
_0.015(— " 0.015— "
II|IIII|IIII|IIII|IIII|IIII|IIII|I _D III|IIII|IIII|IIII|IIII|IIII|IIII|III _D
002 001 0 06§ 002 g0.03 0.04 0.005 0.01
correlation-CO
[ |

tual

o282 0.015 —0.01 -0.005 0

B —16(
0.01—
- —14(
0.005 - o
o —10(
-0.005
—0.01
-0.0151
-0.02F g
B I | | | | | | 1 | | I 1 1 | | | | 1 1 | I | 1 1
-0.015  -0.01  -0.005 0 0.005
asym_sam8g
s
B [
0.005— —50(
- —40(
.D _
-0.005
~0.01—
0.015 "
I | | | | | | 1 | | I 1 1 | | | | 1 1 | I | 1 1 _D
-0.015  -0.01  -0.005 0 0.005
asym_sam8g



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3540 000

asym_sa

w2/ ndf 10.96 /19 )
p0  _2.495¢-06 + 1.226e-06
p1 0.9983 + 0.0003 -~ '
001 <
of-
-a.mf—
—{].DEf— :_:—":
TR N R N

-0.03 -0.02 -0.01 O

4ASVYIl_Sa

0.01

0.02 0.03 0.04 0.05

¥2 | ndf 2026719 )
p0  4.195e-06 + 7.2509e—06
p1 0.7594 + 0.0016 =
[ .|.++
: A
0.01
o
~0.01F ra
- _d.++
-
—0.02—
-l'lIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

-0.03 -0.02 -0.01 O

0.01

0.02 0.03 0.04 0.05

m2

0.01 1 ¥= [ ndf 23.56/19
N
- e,
B -, p0  -7.213e-06 = 6.033e-06
0.005 .
- p1 ~0.4215 + 0.0014
o
0.005 S
B .
B i
~0.01- i
n = 4
0.015
-0.021 i
'I'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
-0.03 -0.02 001 0 0.01 002 0.03 004 0.05

0.005

-0.005

—0.01

-0.015

m2

u ++ = [ ndf 1531 /19
= -|-"_h-

. .

I . p0  5.741e-07 + 3.091e—06
- pi -0.2811£ 0.0007
- .

| +.|:|'++
-|—||||||||||||||||||||||||||||||||||||T|||

-0.03 -0.02 -0.01

asym

sam2468 mutual

asym_sa

mé6

%2/ ndf 28.93 /25 - - %2/ ndf 33.39/28
0.04F
p0  —1.274e-05+ 8.610e—06 - p0  -2.251e-05+ 1.222e—05
- 0.03F g
p1 1.216 + 0.002 . N T p1 ~2.014 £ 0.005
— i 0.02
" o B ’1'_’f+.|.++‘r
_ i - .
0.0 0.01
o oF
—0.01 . -0.01F
B _H:F"*; _ err
-0.02— K -0.02— +Lh+—
L _+ — _
[ |IIII|IIII|IIII|IIII|IIII|IIIIII :IlllIIIIIIIII|IIII|IIII|IIIIIIIII|IIII
2002 001 0 001 002 003 004 —0.02 -0.015 —0.01 —0.006 0 0.005 0.01
asyanam4 as;mLsamﬁ
] ) ﬂ.ﬂ'q- _ ]
12 / ndf 18.04 /25 - %2 / ndf 27.95/28
p0  6.415e—07 +9.799e—07 0.03 p0  -8.16e-06 + 1.05e-05
p1 0.9985 + 0.0002 T o ook E p1 ~1.566 + 0.004
- < X 'Jrﬂﬂh
0.01 3 0.01— .,
oF o
-0.01— e —0.01 e
- = = ,
L F - HHH_
0021 - -
[ |IIII|IIII|IIII|IIII|IIII|IIIIII _.DLUE_III|IIIIIIIII|IIIIIIIIIlIIIIIIIIIlIIII
2002 001 0 001 002 003 004 —0.02 -0.015 —0.01 —0.006 0 0.005 0.01
.
001 72/ ndf 31.94/25 %2 / ndf 27.95 /28 7
E - +++" —'_:
0 005F . p0  —1.611e-06= 6.134e—06 p0  1.375e-07 +5.362e-07 .
- p1 ~0.524 £ 0.001 p1 0.9987 + 0.0002
'D__ L)
-0.0051 - ~0.005-
= Mo B =
B "1-.|.1-+_ B ‘__‘
-0.01— + ~0.01 =
-0.015F -0.015F
-0.021 ) -0.02
—II|IIII|IIII|IIII|IIII|IIII|IIIIII —III|IIIIIIIII|IIIIIIIIIlIIIIIIIIIlIIII
002 -0.01 0 001 002 003 004 —0.02 -0.015 —0.01 —0.006 0 0.005 0.01
B ] ]
- Ty %2 / ndf 29.1/25 %2 / ndf 28.34 / 28 .
- b +;++ _
0.005— -, -
- ™, p0  1.585e-06=1.811e—06 p0  4.977e-06 = 3.980e—06 -
of p1 ~0.367 £ 0.000 p1 0.5827 + 0.0016
= "'.,.“- | +1?+"
~0.005|- ., ~0.005|— ¥
N f— = .
2 5 i f
| - - - 4
~0.01— ~0.01
~0.015|- -0.016
II|IIII|IIII|IIII|IIII|IIII|IIIIII III|IIIIIIIII|IIIIIIIIIlIIIIIIIIIlIIII
~0.02 —-0.01 0.04 —0.02 -0.015 —0.01 —0.006 0 0.005 0.01

correlation-fit.p

ng

m3

28.38 /27

- 72/ ndf
0.041
- p0  —7.254e-06 + 9.702e-06
0.03 _
N 3 p1 -3.219 £ 0.006
0.02f- H,
N ",
0.01
o
-0.01F
: .
-0.02- *ﬂ
:| I 1L 1 1 | I I I | L1 1 1 | L1 1 1 | 11 _I 1
-0.015  -0.01  -0.005 0 0.005

45yIn_54

ms3

- %2 | ndf 30.2 / 27
0.03 p0  4.567e—06 + 4.770e—06
§ t _
00ak o1 2,631+ 0.003
- 4
i i
0.01 -
o
~0.01 .
| Ty
_0.02[ *
H I | | | | I | | | | | | | | | | | | | | | | | | |
0015 -0.01 —0.005 0 0.005
asgllILsamS
%2 [ ndf 18.57 / 27 1
A
p0  —3.796e-06 = 6.145e—06 e
p1 1.395 £ 0.004
-0.005F
N ’r"F
0.0 T
- F
-0.015F
-0.02
H I | | | | I | | | | | | | | 1 | | | | 1 | | | | |
0015 -0.01 -0.005 0 0.005
aSQLlILsamS
12 [ ndf 2418/ 27 o
p0  1.059e—07 + 3.618e—07 =
p1 0.9983 + 0.0002
~0.005 =
—0.01
0.015F
| I | | | | I | | | | | | | | 1 | | | | 1 | | | | |
0015 -0.01 -0.005 0 0.005




asym_sam?2

asym_sam4

asym_samé6

asym_sam3

run3540 000 asym sam2468 mu

" 0.04
0.03
0.02

0.01

-0.01

-0.02

",

_{]L_ﬂa||||I||||I||||I||||I.|||I||||I||||I....

03 -0.02 001 O 0.01 0.02 0.03 0.04 0.05

asym_samz2

Al

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03 -0.02 -0.01 O 0.01 0.02 0.03 0.04 0.05

asym_samZ2

as

0.01

0.005

-0.005

—0.01

-0.015

-0.02

-0.03 -0.02 -0.01 O 0.01 0.02 0.03 0.04 0.05

asym_samz2

as

0.005—

-0.005—

-0.01—

-0.015

" 0.04
0.03
0.02

0.01

-0.01

-0.02

_ II|IIII|IIII|IIII|IIII|IIII|IIIIII
0.03 -0.02 -0.01 0 001 002 003 004

asym_samd

as

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.02 -0.01 0 001 002 003 004
asym_samd

as

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.02 -0.01 0 001 002 003 004
asym_samd

-0.005—

-0.01—

-0.015

" 0.04
0.03
0.02

0.01

-0.01

-0.02

—0.03 -0.02 -0.015 -0.01 -0.005 O 0.005 0.01

asym_samé

as

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_samé

as

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_samb6

as

0.005—

-0.005—

-0.01—

-0.015

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01

tual correlation-scat.png

" 0.04
0.03
0.02

0.01

-0.01

-0.02

_ l | l | l l I 11 l l | l 11 l I l 11
ﬂ‘ng{].m 5 —0.01 —0.005 0 0.005

asym_sam8g

as

0.04

0.03

0.02

0.01

-0.01

-0.02

|
=
E e
n

—0.01 —0.005 0 0.005
asym_sam8

as

0.01

0.005

-0.005

-0.01

-0.015

-0.02

|
=
E e
on

—0.01 —0.005 0 0.005
asym_sam8g

as

0.005—

-0.005—

-0.01—

-0.015—,

-0.015 —0.01 —0.005 0 0.005
asym_sam8g




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

run3540 000 asym sam1357 ‘mutual correlation:COLZ.png

adz- 45(

2.0015

—40(

0.001 —35(

J.0005

—30(

1.0005

—0.001

1.0015

-0.002 u

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

= —B0(
. 0.03
—50(
0.02

—40(

0.01

—0.01

-0.02

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

0.004
—50(

0.003

—40(
0.002

0.001

—0.001

-0.002

-0.003

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

as

0.01

—60C
0.005 —50(

—40(

-0.005

—0.01

-0.015

-0.02

: —60(
2.0015
0.001F —{50¢
D.0005
- —40(
0
- O
0.0005
-0.001F
0.0015F
n 10¢
-0.002 N
: | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1
-0.02  —0.01 0 001 0.02 003 004
asym_sam3
ah_ ]
B |
| N
. 0.03F —50¢
0.02 —a0c
0.01
o
~0.01
—0.02
i ] | 11 1 1 | 11 1 1 | 1 1 1 | 1 1 1 | 11 1 1 | 11 1 1 ,D
-0.02  —0.01 0 001 0.02 003 004
asym_sama3
asym_ _
0.004— —80(
0.003F 170
0.002 P
n —50(
0.001
- 400
oy
-0.001
-0.002
-0.003- -
| | 1 1 1 1 | 1 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1 1 | 1 1 1 1

-0.02 -0.01 0 0.01 002 003 0.04
asym_sam3

0.01
- —{25¢
0.005
ol —{20€
-0.005 [ 15(
—0.01 10(
-0.015 =0t
B m
_ﬂ nE [ | | I | | | I | | L1 1 1 | L1 1 1 | | I | | | I |

2.0015F
- —50(
0.001F
7.0005F |40
0
- 30(
n N
0.0005
_0.001F 200
2.0015F
n 10¢
-0.002 N
:I I 111 1 | 111 1 | 1 1 11 | 1 1 1 1 | 11 11 | 1111 | 111 1 | 1111

003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005 0

asym_samb
ah_ ]
B |
| - —80(
. 0.03
- —70(
- —50¢
0.01—
- 40(
o
- 30¢
_0.01 20(
C 10¢
-0.02
_I I 1 1 1 1 | 11 11 | 1 111 | 1 11 1 | 11 11 | 1 111 | 1 11 1 | L1 11
.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005
asym_samb
0.004
0.003F —j40C
0.002
n —30(
0.001F
o 20
-0.001
0.002F 100
-0.0035
| I 1111 | 1111 | 1 111 | 1111 | 1111 | 1 111 | 1111 | L 111
-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005
asym_samb
as
B —30¢
0.01—
- —80(
0.005- 20
ol —60(
- 50(
-0.005\—
- 40
—0.01 a0¢
- 20(
-0.015
- 10¢
u |
_ﬂ nE [ I 1111 | 1111 | 1 111 | 1111 | 1111 | 1 111 | 1111 | L 111

0.001 0.002 0.003 0.004 0.005
asym_samb

- —60(
2.0015F

0.001F . e

a.m:ms:— Laoc

0
- u

0.0005

-0.001F

0.0015F

-0.002 N

:lIIII|IIII|IIII|IIII|IIII|IIII|I
-0.02 -0.015 —0.01 -0005 0  0.005 0.01
asym_sam7y

ach-_ — —30(

- H

| [

. 0,03 a5t
0.021- oo
0.01

- 15(
o
- 10¢
—0.01F
N 50(
—0.02
_lIIII|IIII|IIII|IIII|IIII|IIII|I ,D
-0.02 -0.015 —0.01 -0005 0  0.005 0.01
asym_sam7y

Eld5: — —a0f
0.004 —80(
0.003 —70(
0.002 —60(
0.001F

0

-0.001

-0.002

-0.003

—lIIII|IIII|IIII|IIII|IIII|IIII|I
-0.02 -0.015 —0.01 -0.005 0  0.005 0.01
asym_sam7y

Al

| ]
0.01—
B —{50¢

0.005

N —40(
.|:|_

~0.005
~0.01

~0.015[-

[ =

_ﬂlnz—lIIII|IIII|IIII|IIII|IIII|IIII|I _D

-0.02 -0.015 —0.01 -0.005 0  0.005 0.01

asym_sam7y



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

run3540 000 asym saml357 mutual

asym_saml

7= [ ndf 33.18 /36 -

p0

p1

9.9489e-08 £ 6.3558e-08 =

0.9992 = 0.0002

1.0005

—0.001

1.0015

-0.002

4ASVYIl_Sa

—{].ﬂﬂED.D{HE{].Dﬂ—H].ﬂﬂDE 0 0.00050.0010.00150.002

A

2 { ndf 38.51 /36
p0  2.077e-06+2.251e—05 i
o1 3.063 + 0.059 } WH
0.002F +
ok
= t
-0.002 |- 1& ﬁ ! i
-0.004 - JW 1
-0.006 | i }
_0.008 :—

0.002

J.0015

0.001

J.0005

1.0005

—0.001

1.0015

-0.002

0.004

0.003

0.002

0.001

0

—0.001

-0.002

-0.003

-0.004

—{].ﬂﬂED.D{HE{].Dﬂ—H].ﬂﬂDE 0 0.00050.0010.00150.002

ml

{q#ﬂ |

H+ .

2 | ndf 37.27 /36

} { J[ p0  —3.956e-06+3.141e-06

Jr+JH+ p1 ~0.7945 £ 0.0082
i

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002

ml

o 2 I ndf 37.27136
- } } 00 _1.798e-06 + 1.147e—05
3 } }Hﬂt} p1 ~1.612 £ 0.030
S S I L

- s

- +

asym_sa

%2/ ndf 17.67 / 26

p0  —2.6e—06 + 2.0e-06

p1 0.02448 + 0.00048
0.2

-{::.2;— J[ J&F /

0.4 Hm

—{].Ef—

-0.02 -0.01 0 0.01

2 { ndf

pl

4SVINl_Sa

26.42/26

p0 2.125e-07 £ 9.303e-07

0.9984 = 0.0002

0.01

-0.01

-0.02

H

-0.02 -0.01 0 0.01

2 ndf

asym_sa

21.89/26

p0  —1.042e-06 £ 2.657e-06

p1 0.1007 + 0.0006
0.002F-
0.001F
o

~0.001F #

- - hﬁﬂ
-0.0021 Hl

r

-0.02 -0.01 0 0.01

mJ3

asym_sa

0.01

0.005

-0.005
-0.01
-0.015

[T

-0.02

198/ 26

3.315e-07V £ 1.838e-06

—-0.5086 = 0.0005

-0.02 -0.01

corre

e 0.03

10N-

Jat fit.p

0.001

J.0005

J.0005

-0.001

ms

72 | ndf

25.38 /30

p0  -3.273e-06 = 1.843e-06

pl

-0.2739 £ 0.0028

*WW |

—0.0030.002-0.001 O 0.0010.0020.003 0.0040.005

4ASVIIl_Sa

¥2 | ndf 27.01/ 30
p0 1.57e-07 + 1.74e-05
p1 4.376 + 0.026
{::.m_—
ol

i "
—0.01 ++f#

-y

p0

pi

2 | ndf

—0.0030.002-0.001 O 0.0010.0020.003 0.0040.005

asym_sa

30.44 /30

—B8.188e-08 £ 1.283e-07

0.9989 £ 0.0002

0.001

-0.001

-0.002

-0.003

asym_sa

-0.005

-0.01

-0.015

-0.02

—0.0030.002-0.001 O 0.0010.0020.003 0.0040.005

ms

| __*ﬁl %2 [ ndf 32/ 30
B J[Jr{;++

- b1, p0  —1.906e—07 + 8.885¢—06
- p1 -2.251£0.013
N .

N -

i -
:I'Illl|||||||||||||||||||||||I|||||||||||||_|||

—0.0030.002-0.001 O 0.0010.0020.003 0.0040.005

ng

asym_sa

m7/

18.81 /727

8 72 1 ndf
0.6
B p0  —2.709e-06 + 2.001e—06
i -+
0.4~ { o1 _0.04989 + 0.00091
0.2 i f%
ol )
0.2 u
—0.4 - H
_0.6—
_|||||||||||||||||||||I|||||||||I||
002 -0.015 —0.01 -0005 0 0005 0.01

m7/

[ T 1= [ ndf 44 .95/ 27
0.03-
B po 1.951e-06 £ 3.296e-06
{].IDE_— St p1 -1.948 = 0.002
; F
= 4
0.01— 4 ™,
ok
—0.01 -~
e
- :
i it }
_U'UETllllllllll|IIII|IIII|IIII|IIII|II
-0.02 -0.015 -0.01 -0.005 0 0.005 0.1
asym_sam?
- 1=/ ndf 2086/ 27
0.004
- p0 —4.721e-07 £ 2.630e-06
0.003
N - p1 -0.1982 £ 0.0012
B Tt
0.002— #
n Jf *H#
0.001F o
0
—0.001 ey
— +
- ++++H+
-0.002 | }
_{]lﬂ{}3+||||||||||||||||||||||||||||||_|||

-0.02 -0.015 -0.01 -0.005 O

asym_sa

¥ [ ndf 2294727
po T7.102e-08 £4.727e-07

p1 0.9987 = 0.0002

0.005 0.01

-0.005

-0.01

-0.015

IIII|IIII|IIII|IIII
F

—'D.UE'I_llllllllll|IIII|IIII|IIII|IIIIIII

-0.02 -0.015 -0.01 -0.005 O

0.005 0.01




2.0015
0.001

J.0005

asym_saml

—0.001
1.0015

-0.002

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

. 0.03
0.02
0.01

asym_samJ3 ﬂ

—0.01

-0.02

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

asym_samsS a

-0.002

-0.003

—0.0020.00150.0040.0005 0 0.00050.0010.00150.002
asym_sami

as

0.01

0.005

-0.005

asym_sam’7

—0.01

-0.015

_.DLGE IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

run3540 000 asym saml1357 ‘mu

J.0015

0.001

J.0005

J.0005

—0.001

J.0015

-0.002

-0.02 -0.01 0 0.01 go02 003 004

asym_sam3

. 0.03

0.02

0.01

—-0.01

-0.02

-0.02 -0.01 0 0.01 go02 003 004

asym_sam3

0.004

0.003

0.002

0.001

-0.001

-0.002

-0.003

-0.02  -0.01 0 0.01 002 003 004

asym_sam3

as

0.01

0.005

-0.005

-0.01

-0.015

-0.02

J.0015

0.001

J.0005

J.0005

—0.001

J.0015

-0.002

asym_samb

as

L
-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005

. 0.03

0.02

0.01

-0.01

-0.02

—0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005

asym_sam5b

as

0.004
0.003
0.002

0.001

-0.001

-0.002

-~
-

-0.003

H T J1TTTT7TT1TTT T 1T T T T T T T T T T TTT T T T T T T TT T 7T T T
I I I I I I I I

-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005

asym_samb

as

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 0.005

tual correlation-scat.png

J.0015

0.001

J.0005

J.0005

—0.001

J.0015

-0.002

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_sam7y

as

. 0.03

0.02

0.01

—-0.01

-0.02

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_sam7

as

0.004
0.003
0.002

0.001

-0.001

-0.002

-0.003

-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_sam7y

as

0.01

0.005

-0.005

-0.01

-0.015

_EI nE —I L 11 1 I 1 1 1 1 I L 1 1 1 I L1 1 1 I 1 11 1 I I I | I 1
-0.02 -0.015 -0.01 -0.005 0 0.005 0.01
asym_sam7y




